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ES 2 2 4 CP220-3 70220P-5
Mo fa i il 52 G 030101 50101
HOR O R (ZEHRRE) ke 9100 8950
Koy | A OPT | M oA H OB (WESRM) | WML [ é H il
VU AK | BEEEE AN T A KU Y2 | min? 2200 2200
w—7A KJ > | min! 800 900
( WHKR ) C (—) (—)
( PEShhE ) C (—) (—)
. i E kPa — 200~390
(kgf/cn?) (—) (2.0~4.0)
Cah R ) C (—) (—)
( [ ) min™! (—) (2200 )
b2 P Em - AT mm 0.15 0.23~0. 27
- PR mm 0.15 0.23~0. 27
ERF D 5AF) Vg il
v JE #i JE kPa 3040 3090~3280
(kgf/en?)|  (31.0) 31.5~33.5
( WHAKE ) C CmEbte ) | (bR )
( [RHE ) min’! (12000 ) (1200 )
N
PR ORE 25 & WS 2L kPa 18142 (—)
SREIE S BRAAIE 71 (kgf/en®)| (185 ) (—)
# H 3 Ty IV NRD - Bi A mm 7~8 10~12
(~L R LT T7) N (98) (98)
(kgf) (10) (10)
A AT P fE T ATl km/h a1 2
(E Tk + S1F)
77y FXE | WA TS cm — —
fFT WRDOA ha—7 cm — —
s BA br—7 cm — —
7Ty FE | Xy v EEE kPa — —
FF7v Ay (kgf/em®) — —
e | T7TME S S kPa - -
(kgf/cm?) — —
(2 v a iR ” (—) (—)
(> v laldinid ) min’! (—) (—)
T | yas ST M AYTILS | Nem _ _
DTN A MY BV s (kgf = m) — -
i -
ks 4> Fx— e D mm - -
#* Fo (F=— L2 )) N (—) (—)
(kgf) (—) (—)
HS TH HEIEEE O MPa 41.7 39.2
" Syvay VY =7ty MNES (kgf/cm?) (1425) (400 )
C o) C (50) (50)
A =AU | R =2V v Tk Nem 930 950
44 Kt ks (kgf + m) (95) (95)
44 YERIE [B%5H] kPa o B
(kgf/cm?)
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WM # A i Jifl 3 i 030101 50101
#OR O R (ZEHRRE) ke 9100 8950
X BeOA T | B oA E A (UESRM) | B ® L e i it # ﬁ * i it
FoNERPER | BUNERPER T m 6.3 6.2
*rf FokBI #41 3 — —
g (XU =TT | MIEEREO MPa 12.3 12.3
i Y 7 AEE VY =7y MNES (kgf/cm?) (125) (125)
C o | ) c (—) (—)
HET7 V=% |HSTHRHTAT TL—FD
LaI T OB EFRR #P HEMX
NENVIERD A ~a—2 mm 10~20 10~20
BSAZ A ha—2 mm 45 80
SCVLIEIA Ty 3 — -
Tl BhaE 7 [ BhEEEE; LA ] m 5 5
(| B L) km/h 20 20
[FZ72aK]
KT LETA =0 7O | mm — —
R LADONE mm — —
TA =T DEES mm — —
Ny 7= | Nem — —
F v MEST RV |(kef - m) — —
[7 4 227 R]
FA4RTDES mm — —
Ny ROES mm — —
& T4 A7 BTy b Nem — —
FifFT by (kgf * m) — —
BER T L—% | HIEEET) (ZILREERRr D) i 11.31 11.31
UA—ER, A1 v T BRAL v F | BLRAAL v T
1EIEZ 05 & #oR
L= fa—7 mm — —
RILETA=0 70K | mm — —
B = 2 B AR MRS bvs | Nem — —
1E (kgf * m) _ _
ES
g | R E T[] MPa — —
i VY =7y MNES (kgf/cm?) (—) (—)
C o | ) c (—) (—)
R [ptre—s-|prra—s-
EZ i o
P 5 ® 7 st | A4 J T 1| V3800-CR-TBA
aEVL—L
PREES, | mEr - R
BTH AT
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